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Age = 306.8± 17.2 / 19.9 Ma (n=16)
(207Pb/206Pb)c= 0.838± 0.053
MSWD = 1.1, p(χ2) = 0.370
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Sub-map = 100 µm x 100 µm
Spots = 25 µm x 25 µm
Mean = 307.0± 3.4 (71/71)
MSWD = 1.2, p(χ2) = 0.15

Sub-map = 200 µm x 200 µm
Spots = 25 µm x 25 µm
Mean = 306.6± 3.1 (17/17)
MSWD = 1.6, p(χ2) = 0.052
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Age = 295.4± 16.1 / 18.8 Ma (n=32)
(207Pb/206Pb)c= 0.844± 0.038
MSWD = 1.3, p(χ2) = 0.100
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Age = 311.1± 10.3 / 14.5 Ma (n=64)
(207Pb/206Pb)c= 0.809± 0.016
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Sub-map = 200 µm x 200 µm
Spots = 25 µm x 25 µm
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Age = 304.2± 9.9 / 14.1 Ma (n=128)
(207Pb/206Pb)c= 0.818± 0.017
MSWD = 1.1, p(χ2) = 0.170
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